


The given sentence is divided into four parts 

that are A, B, C, and D. Choose the part that 

contains an error as your answer. If the 

sentence is error-free, mark E i.e. No error as 

your answer.



Having finished his homework (A), Jack went 

outside (B) to play basketball (C) with his 

friends (D). No Error (E)

1. A

2. B

3. C

4. D

5. E



The Capital on Monday had recorded  Fresh 

54(A)/ COVID19 cases, the lowest (B)/since 

April 15 last year(C)/, and two more 

deaths.(D)/No error(E) 

1. A

2. B

3. C

4. D

5. E



Farsightedly changes in policy(A)/ and laws 

have often (B)/not taken root and many laws 

fail (C)/to meet international human rights 

standards(D)/No Error(E). 

1. A

2. B

3. C

4. D

5. E



Ahead of a more anticipated (A)/Cabinet 

reshuffle, the Rashtrapati Bhavan (B)/on 

Tuesday announced a (C)/slew of 

gubernatorial appointments. (D)/ No error (E)

1. A

2. B

3. C

4. D

5. E



Reports of researchers mysterious (A)/ falling 

ill at the Wuhan Institute in late 2019, (B) /and 

other reports of a researcher (C)/ who has 

reportedly gone missing. (D)/ No Error (E)

1. A

2. B

3. C

4. D

5. E



In each of the questions given below, three 

words are given in bold. These three words 

may or may not be in their correct positions. 

The sentence is then followed by options with 

the correct combination of words that should 

replace each other in order to make the 

sentence grammatically and contextually 

correct. Find the correct combination of words 

that replace each other. If the sentence is 

correct as it is, select '5' as your option.



Deep inside the portal(A) lies a mysterious(B) 

door, rumoured to be a forest (C) to the 

underworld. 

1. CAB 

2. ABC 

3. BCA

4. CBA

5. None of the above



In this utter wasteland(A) of human remains, 

two robots decided(B) to decode the fall of the 

greatest species(C) that ever existed. 

1. ACB

2. BAC

3. CBA

4. CAB

5. No error.



He was hope (A) and weak, still, he kept going 

on with the tired (B) of finding (C) a silver 

lining. 

1. BAC

2. CAB 

3. ACB

4. ABC 

5. None of the above. 



The Carpathian mountains(A) provide an 

European(B) habitat for the largest 

excellent(C) population of brown bears. 

1. ACB

2. BCA

3. CAB

4. BAC

5. None of the above. 



The ill mockery(A) lawyer made a infuriated(B) 

of himself in the court, which prepared(C) the 

judge. 

1. ACB

2. CAB 

3. BCA

4. CBA

5. None of the above. 



The given question has one blank indicating 

that something has been omitted. Choose the 

word from the given options that could fit in the 

blank correctly.



He felt a wave of ____ and accelerated heart 

beat as the door opened.

1. Arrest

2. Apprehension

3. Peace

4. Discharge

5. None of the above 



The use of rings as a symbol of ______ love 

enshrined in marriage can be traced back 

thousands of years.

1. Everlasting

2. Decade

3. Transient

4. Appalling

5. Ephemeral



The teacher gave his usual ____ about the 

importance of completing all assignments but 

the students just yawned.

1. Banter

2. Theory

3. Spiel

4. Spill

5. Argument



The question below contains five scattered 

segments of a sentence. Indicate the 

sequence which correctly assembles the 

segments and completes the sentence.



A. devastated an already

B. the lockdown

C. a lot of suffering

D. fragile economy

E. and caused 

1. CEDAB

2. BADEC

3. BECAD

4. CDEBA

5. CDABE



A. on a large scale is

B. calculating the key parameters 

C. mapping the sky 

D. of cosmic expansion

E. crucial for 

1. CEDBA

2. BACED

3. DBCAE

4. DABCE

5. CAEBD



A. the common folder

B. all the documents and

C. me that he will digitalise

D. store them in

E. the employer has assured

1. ACDBE

2. EBCDA

3. ECBDA

4. DABCE

5. CBEAD



In the given sentence a word has been 

emboldened. Select the best alternative for the 

bold word from the given options. If none 

follows, select option 5 as your answer. 



Alice was always very extroverted when it 

came to people her own age. 

1. Introverted

2. Sociable

3. Antisocial

4. Spiteful

5. None



The 2 cars on the expressway collided with 

each other really badly. 

1. Crashed

2. Brushed

3. Busted

4. Broke

5. None



There was a lot of sorrow in the room the day 

Angelina passed away. 

1. Happiness

2. Gratitude

3. Grief

4. Cruelty

5. None



Which of the following options should replace 

the underlined phrase to make the sentence 

grammatically correct? If the sentence is 

already correct, choose "No correction 

required."



The government has announced plans to 

launch a new initiative aimed at reducing 

plastic waste in the oceans.

1. aimed to reduce

2. aiming at reducing

3. to aim reduce

4. for reducing aims

5. No correction required



The company has decided to move its 

headquarters to a larger office space in the 

downtown area.

1. moving to a larger office space

2. to move its headquarters into a larger office 

space 

3. for moving headquarters  into a larger office 

space

4. move its headquarters to larger office space

5. No correction required



The teacher asked her students to read the 

novel over the weekend and to be prepare to 

discuss it in class on Monday.

1. to prepare for discussing it in class on 

Monday

2. prepared discussing on Monday

3. to be preparing discussing on Monday

4. to be prepared to discuss it in class on 

Monday

5. No correction required



In the following sentence, four words printed 

in bold type are given. One of these words 

printed in bold may either be wrongly spelt or 

inappropriate in the context of the sentence. 

Find out the word that is inappropriate or 

wrongly spelt, if any. If the words printed in 

bold are correctly spelt and appropriate in the 

context of the sentence then mark 'No error’ as 

your answer.



In her book Psychoanalysis and Feminism, 

Mitchell claimed that the causes of women's 

oppression are ultimately buried deep in the 

human psyche.

1. Psychoanalysis

2. Oppression

3. Buried

4. Psyche

5. No error



Biologically, Alzheimer's occurs when

production of the protein beta-amyloid 

precursor protein--a protein that normally 

helps the production and growth of neurons--

goes awrey.

1. Alzheimer's

2. Production

3. Neurons

4. Awrey

5. No error



When depressed mothers interact with their 

infants, they are likely to display little emotion 

and to act detached and withdrawn.

1. Depressed

2. Interact

3. Detached

4. Withdrawn

5. No error



Cultural appropriation is considered harmful by 

various groups and individuals, including 

Indigenous people working for cultural 

preservation, those who advocate for 

collective intellectual property rights of the 

originating, minority cultures, and those who 

have lived or are living under colonial rule.

1. Appropriation

2. Indigenous

3. Preservation

4. Intellectual

5. No error



Friedrich Engels felt that the oppression of 

women will cease only with the disorientation

of the institution of private property.

1. Oppression

2. Disorientation

3. Cease

4. Institution

5. No error



The sentence is divided into four parts. Find 

out which part has an error mark it as your 

answer. If there is no error, mark ‘No error’ as 

your answer.



Every student and every teacher have (A)/ to 

join hands to make Akash sir's last day (B)/ in 

school a memorable one (C)/ for the rest of his 

life. (D)/

1. A

2. B

3. C

4. D

5. E



Buckingham is famous all (A) over the world 

and apart from being the (B) seat of the royal 

house,(C) it is the eldest castle in Britain. (D) 

No Error (E)

1. A

2. B

3. C

4. D

5. E



Though humans are the most intelligent of all 

other species /(A)in the world. That day is not 

far when AI and machines /(B)will control 

them. Everything is under control till the 

/(C)time machines do not have a mind of their 

own./(D) No Error (E)

1. A

2. B

3. C

4. D

5. E



The Health Minister and the Prime Minister of 

the country (A)/ shared his concern (B)/ on the 

recent upsurge (C)/ in the Covid-19 cases of 

the country. (D)No Error (E)

1. A

2. B

3. C

4. D

5. E



Deep in the jungles of Southeast Asia,(A)/ 

archaeologists have rediscovered the(B)/ 

remains of an invisible kingdom that (C)/ may 

have been the template for Angkor Wat.(D) No 

Error (E)

1. A

2. B

3. C

4. D

5. E



In the following passage, some words have 

been deleted. Select the most appropriate 

option to fill in each blank.



Banks have asked the Reserve Bank of India (RBI) for a 

relaxation in the rules on reporting loan fraud, reasoning that the 

existing norms are too ___(1)___. They have sought a month’s 

time for reporting loan fraud to the RBI as opposed to the 

current seven days. Banks need to make full provisions once an 

account is classified as ___(2)___. The issue was discussed in a 

meeting last month. We have suggested to the RBI that instead 

of one week, the reporting time should be increased to around a 

month,” said a senior bank executive aware of the development. 

Under the existing framework, lenders need to ___(3)___ fraud 

to the RBI's Central Repository of Information on Large Credits 

(CRILC) within a week of the joint lenders’ forum (JLF) declaring 

an account fraudulent. After the JLF meeting, each lender has to 

individually get internal ___(4)___ to have the account classified 

as fraud and this takes more than a week, said another senior 



Under existing norms, in the case of an account with multiple 

lenders, a forensic audit has to be completed within three 

months once ___(6)___ by the JLF. “The banks have to decide 

on the account status, classifying it as fraud or not, within two 

weeks of the completion of the forensic audit,” said the first 

banker, adding that there have been cases where other 

accounts of the borrower that are standard also need to be 

___(7)___, which requires more time. “A 30-day period will help 

in accountability and effective fraud risk management.” Financial 

institutions, including NBFCs, need to report all exposures of Rs 

5 crore or more to the CRILC, a requirement aimed at early 

recognition of financial ___(8)___. Earlier, banks had agreed to 

report borrowers who wouldn't cooperate in their forensic audit 

to CRILC in order to prevent and facilitate early detection of 

fraud. As per the latest data, 39.8% of gross NPAs of scheduled 



Banks have asked the Reserve Bank of India 

(RBI) for a relaxation in the rules on reporting 

loan fraud, reasoning that the existing norms are 

too ___(1)___. They have sought a month’s time 

for reporting loan fraud to the RBI as opposed to 

the current seven days. 

Select the most appropriate option to fill in blank 

number 1.

1. Delicious

2. Stringent

3. Stinky

4. Remaining



They have sought a month’s time for reporting 

loan fraud to the RBI as opposed to the current 

seven days. Banks need to make full provisions 

once an account is classified as ___(2)___. 

Select the most appropriate option to fill in blank 

number 2.

1. Monument

2. Tournament

3. Decision

4. Fraudulent

5. Depression



Under the existing framework, lenders need to 

___(3)___ fraud to the RBI's Central Repository of 

Information on Large Credits (CRILC) within a week 

of the joint lenders’ forum (JLF) declaring an account 

fraudulent. After the JLF meeting, each lender has to 

individually get internal ___(4)___ to have the 

account classified as fraud and this takes more than 

a week, said another senior bank executive. 

Select the most appropriate option to fill in blank 

number 3.

1. Emerge

2. Deport

3. Effort



Under the existing framework, lenders need to 

___(3)___ fraud to the RBI's Central Repository of 

Information on Large Credits (CRILC) within a week 

of the joint lenders’ forum (JLF) declaring an 

account fraudulent. After the JLF meeting, each 

lender has to individually get internal ___(4)___ to 

have the account classified as fraud and this takes 

more than a week, said another senior bank 

executive. 

Select the most appropriate option to fill in blank 

number 4.

1. Remand

2. Medications

3. Approvals



“In some cases, banks also look at other 

accounts with the same borrower which is 

___(5)___ and standard,” he said. 

Select the most appropriate option to fill in 

blank number 5.

1. Operational

2. Emotional

3. Abominable

4. Economical

5. Redundancy



Under existing norms, in the case of an 

account with multiple lenders, a forensic 

audit has to be completed within three 

months once ___(6)___ by the JLF. 

Select the most appropriate option to fill in 

blank number 6.

1. Begged

2. Skipped

3. Melted

4. Authorized

5. Relevant



“The banks have to decide on the account 

status, classifying it as fraud or not, within two 

weeks of the completion of the forensic audit,” 

said the first banker, adding that there have 

been cases where other accounts of the 

borrower that are standard also need to be 

___(7)___, which requires more time. 

Select the most appropriate option to fill in 

blank number 7.

1. Investigated

2. Stopped

3. Sophisticated



“A 30-day period will help in accountability and 

effective fraud risk management.” Financial 

institutions, including NBFCs, need to report all 

exposures of Rs 5 crore or more to the CRILC, a 

requirement aimed at early recognition of 

financial ___(8)___. 

Select the most appropriate option to fill in blank 

number 8.

1. Rest

2. Frequent

3. Complicated

4. Address



Earlier, banks had agreed to report borrowers 

who wouldn't cooperate in their forensic audit to 

CRILC in order to prevent and facilitate early 

detection of fraud. As per the latest data, 39.8% 

of gross NPAs of scheduled commercial banks 

___(9)___ to the top 312 defaulting borrowers. 

Select the most appropriate option to fill in blank 

number 9.

1. Detain

2. Entertain

3. Pertain

4. Abstain



In the past five financial years, banks have 

___(10)___ an aggregate of Rs 6.60 lakh crore.

Select the most appropriate option to fill in 

blank number 10.

1. Discovered

2. Recovered

3. Deferred

4. Interfered

5. Impaired



In the following question, out of the four 

alternatives, select the alternative which will 

improve the underlined part of the sentence. In 

case no improvement is needed, select the 

"No improvement" option.



He watched the wolf to disappearing into the 

tall grass.

1. to being disappear

2. to disappear

3. disappear

4. disappears 

5. No Improvement required. 



The opaque nature of intrinsic values comes 

with fact that it is difficult for even the most 

seasoned investors to pinpoint future events.

1. comes at the 

2. comes within the

3. comes from the

4. comes on a

5. No correction required



After a lot of effort, I finally convinced the 

salesman to come to an agreement off the 

price of the wooden sculpture.

1. settlement in

2. agreement on

3. agreement for

4. disagreement to

5. No correction required



Select the segment of the sentence that 

contains the grammatical error. If there is no 

error, mark 'No error' as your answer



I can clearly understand(A) that it is nothing 

else but (B)Riya's ego that is preventing her to 

attend(C) the bachelor party of her best friend 

Sahil. (D) No Error (E)

1. A

2. B

3. C

4. D

5. E



Because he stayed /(A) the entire night in the 

hospital /(B) taking care of his ailing 

grandfather, /(C) therefore, we brought his 

lunch here. (D) No Error (E)

1. A

2. B

3. C

4. D

5. E



It is such a privilege to take the first lady(A) 

Michelle Obama on an Adventure into the 

Amazon forest range(B) and I feel true 

honoured to get to spend time and share(C) 

my experiences with this remarkable person. 

(D) No Error (E)

1. A

2. B

3. C

4. D

5. E



Three kilos of good quality(A) California 

almonds cost around (B) five thousand rupees 

when bought (C) during the sale in the 

supermarket (D) No Error (E)

1. A

2. B

3. C

4. D

5. E



There is no denying the fact that the Indian 

Army/(A)  is good and stronger than the 

Pakistan Army in every possible aspect. /(B) 

India has active military personnel of 1.4 

million that is double that of Pakistan, /(C) 

making India the third -largest active military in 

the world./(D)  No Error (E)

1. A

2. B

3. C

4. D

5. E



In each question, one sentence is given in 

which certain words are in bold and numbered 

from A to E. Below the sentence are given five 

options with possible pairs of interchange of 

those bold words. Choose the pair(s) of words 

which are needed to be interchanged to make 

the sentence grammatically correct and 

meaningful.



Home Minister R.K. Javadekar offices (A) to 

take legal action against several scheduled 

tribe workers (B) who had accused (C) him of 

discrimination at two threatened (D) where he 

had been the in-charge(E). 

1. A-E

2. A-D

3. D-E

4. B-C

5. None of these



The NITI Aayog has announced (A) the 

second instalment(B) of 1,100 more solar 

panels ensuing (C) Uttar Pradesh for the to (D) 

inspection in the third week (E) of July.

1. A-B

2. B-C

3. D-E

4. C-D

5. No swapping required



75% of according(A)entrepreneurs experience 

(B)personal financial hardship,  social (C)to a 

2019 study by(D) World Economic Forum. (E)

1. A-E

2. A-C

3. D-E

4. B-D

5. None of these



It also said there is no scope (A)now for the 

trial of the home- grown (B) rapid test kit 

developed(C) by the Gonoshasthaya Kendra 

scientists (D)and other labs.(E)

1. No swapping required

2. A-C

3. B-D and C-E

4. C-D

5. A-E



The question below contains five scattered 

segments of a sentence. Indicate the 

sequence which correctly assembles the 

segments and completes the sentence.



A. dance either in / B. or out of sync / C. the 

students were / D. with one another / E. 

instructed to 

1. CEABD

2. EABDC

3. ABDCE

4. DEABC

5. CABED



A. dancing demands / B. because it involves / 

C. movement in / D. all directions / E. a lot of 

energy output

1. ACBDE

2. AECBD

3. DECBA

4. AEBCD

5. BCDEA



A. Users provide an astonishing amount of /B. 

personal information voluntarily, and /C. online 

social network /D. service providers /E. store 

this information 

1. ABCDE

2. DBAEC

3. CBEAD

4. EDACB

5. ABEDC



Read the passage carefully and answer the 

following questions:



India is the second-largest producer of coal, with reserves that 

could last up to 100 years. Despite that, year after year, the 

shortage of coal supplies continues to be an issue. Why does India 

have a recurring power crisis? As seen in chart 1, the domestic 

production of coal stagnated between FY18 and FY21, but revived 

in FY22. The power demand too surged owing to economic 

recovery and hotter weather conditions. In a press release 

published on May 27, the Ministry of Power noted that “despite 

efforts to increase the supply of domestic coal, there is still a gap 

between the requirement of coal and the supply of coal.”.

Until FY20, domestic sources contributed to about 90% of the 

power sector’s coal receipts; the remaining was filled by imports. 

But by FY22, the reliance on imports dwindled to 3.8% which built 

pressure on domestic supplies. As chart 2 shows, the coal 

imported by power plants declined to 27 MT in FY22 from 66.06 



A bulk of imports was made by power plants designed for 

imported coal. Notably, their share of imports too saw a decline of 

60% in FY22 since FY17. Out of 15 such import-based power 

plants in India, five had little or no coal stock as of June 15.

This dip in imports can be attributed to the skyrocketing prices of 

coal in the international markets (chart 3). The price of imported 

coal is nearly 5-6 times higher than domestic supply. It is in this 

scenario that the Power Ministry asked the gencos to import coal. 

However, States are wary of using imported coal as it would raise 

the cost ______ power substantially. The shortfall in domestic 

supplies and the rising cost of imports have put power plants in a 

precarious situation (chart 4). About 79 of the 150 plants that 

depend on domestic coal had critical stocks (<25% of the required 

stock) as of June 15. Eight import-based coal plants were also at 



What is the antonym of stagnate?

1. Stand

2. Flow

3. Stable

4. Fester

5. Putrefy



What is the synonym of indigenous?

1. Native

2. Original

3. Earliest

4. Local

5. All of the above



What can fit in the blank, "However, States are 

wary of using imported coal as it would raise the 

cost _____ power substantially. "

1. Of

2. To

3. Be 

4. Was

5. Have



India is the second-largest producer of coal, 

with reserves that could last up to?

1. 200 years

2. 150 years

3. 500 years

4. 100 years.

5. 250 years



About how much of the 150 plants that depend 

on domestic coal had critical stocks as of June 

15?

1. 59

2. 79

3. 89

4. 49

5. 29



THANK 
YOU


